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b S, HIEHIS (Gt I8hAE %)
2= | 22 -H20=EA) ) sz sa02(B) 2 &1 (A+B)
wi
T = e
- _ | 1.6053 0.3874 1.9927
22X CH S (X AI
ST S(FH)AT EPl 1.6057 0.3932 1.9989
_ _ | 2 0044 0.3815 2.5859
=s=2x CH S (XAl
ST BL1S(F4)C =5l 2 0042 0.3945 2 5987
_ _ | 0.7550 0.3834 1.1384
S22 HICH S(=AlC—
SIS (FH)C- =5l 0.7555 0.3877 1.1432
_ _ | 2.0804 0.3868 2.4672
=s=2x CH S(ZX=Al
ST A1 B(FH)C2 | 2.0806 0.3885 24691
_ _ | 1.9534 0.4099 2.3633
S 2 XIHICH S (= Al
ST B(FH)C3 | 1.9529 0.4429 2.3958
_ _ | 1.8292 0.3648 21940
S 2 XIHICH S (= Al
ST B(FH)C4 | 1.8297 0.3736 2.2033
_ _ | 1.7053 0.3841 2.0894
s =2x CH S(ZX=Al
ST ES1B(FH)C5 =5l 1.7057 0.3900 2.0957
- _ | 1.0515 0.3986 1.4501
22X CH S (X AI
SF1S(FH)S =5l 1.0517 0.4058 1.4575
- _ | 1.1551 0.3848 15399
I=N—] Ct XAl
ST S(F4)Ae =] 1.1555 0.3878 1.5433
R _ =Bl 1.2047 0.3843 1.5890
=2z HICH Al
ST EUS12(F4)Ce =] 1.2051 0.3890 15041
R _ =Bl 0.7049 0.4882 11931
I=—| Ct Al —
SFEUS1B(FH)C-W =] 0.7049 0.4568 11617
R _ =Bl 1.5398 0.3841 1.9239
I=—| Ct Al —
ST B(FH)C-P1 =] 1.5395 0.3967 1.9362
R _ =Bl 1.5020 0.3834 1.8854
I=—| Ct Al —
ST 1B (FH)C-P2 | 1.5025 0.3868 1.8893
- _ =Bl 11194 0.4044 15238
22X Ct XAl —
ST 1S (F4)C-Pel EPl 1.1197 0.3996 1.5193
- _ =Bl 1.0994 0.3878 1.4872
I=N—] Ct XAl —
ST L1 2(FH)C-Pe2 =] 1.1001 0.3875 1.4876
=1) 284 HI2H 2(Total Expense Ratio)0|2t S84 S HCONA SS6ts 'B4'9 JIEHHIE' ZUS 2= XA o1 X0 (B4 H]
2 HUX IF)O2 U= HIS2A Y 22II2H = ENXIF BUs £ 24 HBLFES LIEFYLICH
F2) OHOH-EHAA2 HIS0I2 HIH-SHA22E =N QEIM(BAHE ILE JE)02 s HIERA 1L 2S2I24 = &
XEXEOF SEtst DHOK- BSR4 220 22 LIEFLICH
6. SEXFAHAHOHOHLH S
> OHOH=AAE R S| AE (SHSl: HOrRl, %)
ES e MMERER
o =S 2t S | 2 EE
646,900 16,165 696,072 24121 52.78 209.39
BN TERENE e 22012 E (8 FADINel E0E 0 e S8l = HR6 Falol BROhAOR s ST
OB MSO0l =232 K HAHLEL2(0.1% Q) L SAHHA(HEAl 0.3%) HAHO2 AN EXAIIF SL5IH &= BSHI=O
ZI}EHLICH,
P X2 32| F=A OH0HE&EE F0I (Sl %)

2018-09-07 ~ 2018-12-06

2018-12-07 ~ 2019-03-06

2019-03-07 ~ 2019-06-06

31.34

55.58

52.78
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